

The Happy Segway Principle

October-10-12
9:53 AM

$$\text{Minimize } \int \frac{\sqrt{1+t^2}}{v(x,y)} dx$$

$$E-L: F_y - \frac{d}{dx} F_{y'}:$$

$$\left. \begin{aligned} \frac{d}{dt} \frac{t}{\sqrt{1+t^2}} &= \frac{1}{\sqrt{1+t^2}} - \frac{t^2}{\sqrt{1+t^2}^3} \\ &= \frac{1+t^2 - t^2}{(1+t^2)^{3/2}} = \frac{1}{(1+t^2)^{3/2}} \end{aligned} \right\}$$

$$-\frac{v_y}{v^2} \sqrt{1+y'^2} - \frac{d}{dx} \frac{y'}{v \sqrt{1+y'^2}} =$$

$$-\frac{v_y}{v^2} \sqrt{1+y'^2} + \frac{v_x}{v^2} \frac{y'}{\sqrt{1+y'^2}} + \frac{v_y}{v^2} \frac{(y')^2}{\sqrt{1+y'^2}} - \frac{y''}{v} \frac{1}{(1+y'^2)^{3/2}}$$

$$= \frac{v_x y' + v_y (y'^2 - (1+y'^2))}{v^2 \sqrt{1+y'^2}} - \frac{y''}{v} \frac{1}{(1+y'^2)^{3/2}}$$

$$= \frac{1}{v^2 (1+y'^2)^{3/2}} \left((y' v_x - v_y) (1+y'^2) - v y'' \right)$$

$$\Rightarrow v y'' = (1+y'^2) (y' v_x - v_y)$$